i i
‘State Trosting Corparation of Bhuban Lid,

Item Description
SPRING

PRESSURE PLATES
GEARBOX KIT
BRACKET TATA

U BOLTS/ IRON PIN
SPRING BUSH
OTHERS

Total Inventory

SPRING

Rear Tala 1613(80x16}
Front Tata 2515 EX(T0X16)
Rear Tata 2515 EX (80X186)
Rear Tata 2515 EX (80X15)
Front Tata 709 Truck

Rear Tata 60%/709 Truck
Rear Tata 609/702 Bus
Rear Tata 2515 EX (80X15)
Rear Tata 1613(80x15)
Front Tata 2515 EX(70X16)
Front Tata 709 Truck

Rear Tata 809/708 Truck
Rear Tala 1613(80x16)
Rear Tata 1613(80X15)
Front Tata 709 Truck

Rear Tata 609/709 Truck
Rear Tala 609/709 Bus
Rear Tata 2515 EX (80X186)
Rear Tala 2515 EX (80X15)
Rear Tata 609/709 Truck
Front Tata 609/709 Bus
Rear Tala 609/709 Bus
Rear Tala 2515 EX (80X15)
Rear Tata 1613(80x16)
Rear Tata 1613(80x15)
Front Tata 709 Truck

Front Tata 609/709 Bus
Rear Tata 609/709 Bus
Rear Tala 1613(80x16)
Front Tata 2515 EX(70X16)
Rear Tala 1613(80x15)
Front Tata 609/709 Bus
Rear Tata 1613(80x15)
Front Tata 2515 EX({T0X16)
Rear Tala 2515 EX (80X16)
Front Tata 709 Truck

Front Tata 609/709 Bus
Rear Taia 809/709 Bus
Rear Tala 2515 EX {80X15)
Rear Spring Leaf {Marcopolo Bus)
Rear Spring Leaf (Marcopolo Bus)
Total

GEARBOX KIT

GEAR BOX SHIM KIT(60GB)
GEAR BOX SHIM KIT(72GB)
Total

BRACKET TATA

BRACKET TATA 1210 DI RIS
MIDDLE BRACKET DOQUBLE PIN
FRONT BRACKET {6HOLE)
BRACKET TATA 2416

Total for bracket

Particulars

TYPES
2nd
2nd
2nd
2ND
3RD
3RD
3RD
3RD

4th
4th
4TH
4TH
5th
5th
5TH
5TH

5TH
5TH
6TH
6TH
6TH
BTH
7th
Tth
7TH
7TH
iTH
Aux-A
Aux-A
Aux-B
AUX-B
MAIN
MAIN
MAIN
MAIN
MAIN
MAIN
MAIN

TYPES

TYPES

UNIT
NOS
NOS
NOS
NOS
NOS
NOS
NOS

UNIT
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS
NOS

UNIT
NOS
NOS

UNIT
NOS
NOS
NOS
NOS

STOCK
187.00
12.00
378.00
20.00
328.00
43.00
438.00
1411.00

STOCK
1.00
6.00
3.00
25.00
4.00
1.00
1.00
2.00
10.00
10.00
6.00
2.00
3.00
4.00
1.00
6.00
3.00
2.00
1.00
200
5.00
1.00
3.00
200
5.00
1.00
3.00
5.00
1.00
5.00
1.00
200
4.00
1.00
18.00
1.00
1.00
6.00
21.00
4.00
400
187.00

STOCK
180.00
188.00
378.00

STOCK
2.00
7.00
3.00
8.00

20.00

SUMMARY OF STOCK

TATA MOTORS

Connecting Aspirations

TATA SPARES INVENTORY

Total Inventory

| 121100

OTHERS | 438.00

sPRING BUSH [l 48.00

U3oLTs/ RONPN (I 2500

BRACKETTATA | 2060
GEARBOX KT D 378.00

PREZSSURE PLATES | 1200

SPRING [ 187.00

Q.00 200.00 400,00 400.00 &00.03 1000.001200.001400.007400.00

PRESSURE PLATES
Pressure Plate (GBS-40) 3FINGER
Pressure Plate (GBS-40) 4 FINGER
Total for decorations

OTHERS

Clutch Release Bearing

Door Visor Xenon Heavy (Rain Guard)
BEEL CRANK LEVER

B.C BUSH TATA (SET OF 3PCS)

TATA 2416 FRONT SPRING EYE BUSH

TATA 2416 REAR SPRING EYE BUSH
BOLT WITH NUT 16MM 12

CENTRE BOLT WITH NUT 20™5/8
SPRING C. BOLT WITH NUT (5/8*14)
BOLT WITH NUT (1532*12" LH)
C/BOLTS 16MM*18"(5/8)

REAR TRAILOR

TATA SPRING PIN RR SMALL

JACK

Total for others

U BOLTS/IRON PIN

U BOLT TATA 2515 EX FR {22*82*17)
U BOLT TATA 2515 EX FR {22"82*18)
U BOLT TATA 2515 EX FR {22°B2"22)
U BOLT TATA 2515 EX FR (22*82*23)
IRON PIN {35*148) MP-78

IRON PIN {35*129) MP-79

IRON PIN (42*118) MP-73

IRON PIN (30°129) MP-81

IRON PIN (42*148) MP-72

SPRING C.BOLT WITH NUT (22"5/8)
frant centre bolt

SPRING C.BOLT WITH NUT (22"*5/8)
Total for U-bolts

SPRING BUSH

SPRING BUSH TATA FRONT DI 1210 P
SPRING BUSH TATA REAR DI 1210 P
SPRING C. BOLT WITH NUT (5/8%14)
Total

TYPES UNIT STOCK
GBS40 NOS 1.00
GBS-40 NOS 11.00
12.00
TYPES UNIT STOCK
NOS 2.00
NOS 13.00
NOS 5.00
NOS 26.00
NOS 39.00
NOS 20.00
NOS 60.00
NOS 15.00
NOS 40.00
NOS 50.00
NOS 56.00
NOS 60.00
NOS 22.00
NOS 30.00
438.00
TYPES UNIT STOCK
NOS 14.00
NOS 30.00
NOS 28.00
MNOS 32.00
NOS 50.00
NOS 46.00
MOS 2200
MOS 10.00
NCS 6.00
NOS 32.00
MWOS 2600
NOS 32.00
328.00

TYPE ACTUAL OVER/UNDER

NOS 3.00

NOS 5.00

NOS 40.00
48.00

Contact at: tatasp_sonamw@stcb.bt / tatasp_bali@stch.bt

Contact Person;
1. Sonam Wangchuk @ 17358571
2. Bali Ram Moktan @ 77343770



